SDHSEE SPEENEENGTE
6 HOFE IR > B EARY | [FEREE BIAET
g |w| mEPe | O PR EBRS EBIS
6/1 | A | 2FEMEER | x X
6/2 | & | 2HMHEER | x O 1, 3FE£DH
6/3 | £ | 2&HHEER | x X
6/4 H X X
6/5 | A 2 AR X @) 1, 3FEE£DH
6/6 | N X X
6/7 | XK X O
6/8 | K X X
6/9 | & HiER= X O
6/10 | = X X
6/11 | H O 800 ~ 11:00| X VSHEHERERS FEPFK
6/12 | A X O
6/13 | X X X
6/14 | XK X O
6/15 | K | FTEEEROH X X
6/16 | & x @)
6/17 | PRESVEZE O 7:00 ~ 8:15]| x EBEEL THOBREESE |
6/18 | H
6/19 | B HE = X X
6/20 | X X X
6/21 | K X O 1,250+
6/22 | N | 3HEFRIT | x X FAMERFTEENSLE
6/23 | & | 3HFEEFRT | X X
6/24 | £ | 3HEFIIT | x X
6/25 | H X X
6/26 | A 3 AR X X
6/27 | X X X
6/28 | K X X
6/29 | K HARTAMD X X
6/30 | & HART AN X O




